DRAWING

NUMBER

‘L/‘E/A\li)/‘ 7EN\/

D ANG

308

'F PR

OJECTION

2 HOLES ©3.6£0.20

- - 27.65 MAX
= f\,/
14.50 MAX -
13.60 MIN I
— ~ N
F 2.50+0.05
<—>\ — - o
| {1 —]-
]
L Il
|| |
e foo N
L—L
—— N
g - - < > 8
I s s PANEL CUT—0UT
I m—
- ]
3.0 MAX
PANEL THICKNESS
TYP., 2 PLCS,, (SEE NOTE 2)
NOTE:—
1. BATCH No. & PART No., BREAKDOWN.
DEUTSCH AS2 kxk—%x%P/S*k —978M RP654321
BATCH No.
SHELL] A B C |edD |E [ oG | oH | L SERIES MODIFICATION CODE
SIZE | REF |£0.20|rReAD |895 |28:4° | 2695 | MAX |+0.10] MAX SHELL STYLE KEYWAY ORIENTATION
3 18.00/21.40|M3x0.5/12.00/17.21/16.05 | 11.10/ 14.50/29.00 ARRANGEMENT P=PIN OR S=SOCKET
70 [19.00]25.90|M3x0.5[15.00]17.21]16.05 | 14.27] 17.40/ 33.55
12 1230029 101M320.519 0517 211605 [ 17 44121 90 36 85 2. THIS CONNECTOR MAY ONLY BE MOUNTED WITH PANEL IN FRONT OF FLANGE.
14 [26.00]32.50/M3x0.5(22.22117.21[16.05 | 20.60/ 25.00/ 40.05
16 |31.80]34.80|M3x0.5(25 40|17.21]16.05 | 23.77| 28.20/ 42.65| [CONTACT | oX | oY
18 [35.20/38.20|M3x0.5(28.57/17.21/16.05|26.94| 31.40/ 45.70 SIZE MAX | MAX
20 |38.50/41.60|M3x0.5[31.75/17.21/15.29]30.11| 34.60/ 49.20 22 0.72 | 1.25
22 42.00/44.95|M3x0.5(34.90/17.2115.29| 33.29 37.75/52.60 20 0.72 | 1.25
24 [44.80]49.35|M3x0.5]38.10/17.21]15.29] 36.46] 40.90/57.00 16 157 | 2.61
MATERIAL C“FTF\\ SHT TOLERANCES UN
777777 Y[RA VING WISE STATED.
HEAT TREATMENT & FINISH (R) EAST GRINSTEAD, WEST SUSSEX, RH19 1RW TEL:— (01342) 410033
B | 57206 NDL | ADH | JAK 28.05.09 —— ALL BURRS AND SMarP TTLE AS TYPE 2 RECEPT. DRAWING NUMBER
777777 0.1 MAX. UNLESS PCB BOX MNT. THREADED
A | 56858 NDL | ADH | JAK  05.03.09 Ut I
S CLINCH NUTS. MOD 978M. 010951 —ENV
ISSUE| CHANGE NOTE | DRAWN |CHECKED| APP. ENG. DATE APP. MARKT. \GOULDH\/G DIMS. IN MILLIMETRES EN\UELQFE [wETA\LS




	Model

